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QUESTION 1
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Refer to the exhibits of the S-Series switch. 

A networking engineer is unable to pass traffic across interface port 13 and 43 for Dell1 and Dell2 S-Series 

switches, respectively. 

Based on the exhibit, what is the problem with the configuration for the switches? 

A. There is a native VLAN mismatch. 

B. Port 13 needs to be tagged to pass traffic. 

C. 802.1 w protocol needs to be disabled for both ports. 

D. Port 43 needs to be tagged to pass traffic. 

Correct Answer: A 
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QUESTION 2

Which component is required to deploy the N2000/N3000 Series switches in a stack configuration? 

A. Ethernet cables 

B. SAS cables 

C. Optical Transceivers 

D. TwinX cables 

Correct Answer: B 

 

QUESTION 3

A network engineer has configured LACP on two connected S-Series switches. LACP is not formed for port
TenGigabitEthernet 0/72. 

The network engineer has issued "show lacp" to debug the issue. 
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From the output shown, what are two likely reasons for this result? (Choose two.) 

A. Peer port-channel is configured in passive mode. 

B. Link speed of the port is different. 

C. MTU of the port is different from the channel members. 

D. Peer port-channel protocol is configured differently. 

E. Peer port-channel priority configured is zero. 

F. Peer port-channel key is configured differently. 

Correct Answer: DF 

 

QUESTION 4

A network engineer has connected a Port Extender to a C-Series switch. While issuing the command "show pe brief" on
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the C-Series switch, the engineer sees a status of "offline". 

Which two things could be causing the Port-Extender to show "offline"? (Choose two.) 

A. Mismatched software version 

B. Communication error 

C. Physical interfaces are shutdown 

D. Incorrect Port-Channel numbering 

Correct Answer: AB 

 

QUESTION 5

Which three properties are required for two OSPF router interfaces to establish a neighbor relationship? (Choose
three.) 

A. Router interfaces must have the same OSPF timers. 

B. Router interfaces must be on a point-to-point network. 

C. Router interfaces must be in the same area. 

D. Router interfaces must use the same OSPF process I 

E. Router interfaces must be on the same primary IP subnet. 

Correct Answer: ACE 
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